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1. Evaluate lim VT = —,wherea= 6
=9 I — a
|z — 1| : :
2. Let f(r) = ——. Then lim f(z)= —1 and lim f(z)= _1
r—1 z—1- - z—1+
2420 -8
3. Define f(2) so that the function f(z) = az—g—x is continuous at x = 2. f(2) = —6
—x E—

1
4. The equation for the tangent line to the curve y = r\/ig which passes through the point (1, 5)
x
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-1
isy = mx + b where m = e and b =

z? Jfr <2
5. Let f(z) = . Find the values of m and b that make f differentiable
mx+b ,ifzx > 2

everywhere. Thenm = _4 andb= —4

6. Suppose that the targent line to the graph of a function f at x = 1 passes through the point (4, 9)

and that f(1) = 3. Then f'(1) = _2_

L35 ~ ZFP 5. (60 &)

1
1. Show that lim z%sin — = 0.
z—0 x
2. Evaluate li ( ! 1)
. valuate 11m —_— — — .
t=0 \tv/1+t 1

3. Show that the function f(x) = 1 — /1 — x? is continuous on the interval [—1, 1].
4. Show that there is a root of the equation z* 4+ 2 — 3 = 0 between 1 and 2.
5. Let f(x) = /2. Use the definition of derivative to find the derivative of f.

6. Find an equation of the normal line to the curve y = x + \/E at the point (1, 2).
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1 % 1.6 — »48 11*
-1 .
2 5 1.6 — % %2 29
3 B3 1.8 — |38 4
4 LE 1.8 — % %253
5 ! 22— |42 3
JE— L — DI RR
2\/x
2
6 | Thenormallineisy — 2 = —g(x - 1) 23— Y XS5
*:‘_;/’_ "'”%g~w;‘nl%\

* P A AR i




